No.

L T4 =3IV Aba>7Y — hEEAETEE
20244 48 1H

WkEL 2 a2 MRSt =K TH

AN E‘ = R ——

L E 4

Pt £ H

MmA T oE B

NP EEH (SH11H~6H10H. 9H21H~12H10H)
Z!KEEQODL_%,E\HFBEJ (%fﬁﬁﬂé})

1)) - DFTA A&

[ a D 53 af % 1Gs
=1 r 1) = D I 7N 2777 X3A07 - HBEM Q&K TiE U OEE
LNy BEICEDES = cm mm 2k BEH
o] 24 8 40 BB
§E +t A >k O B & Wﬁﬁﬁliaﬂﬁ HE M OB KT & MG R AR
P \ g it 7)1/73U°/J7‘JJ§FC\ BB
BMONMNRIEE L DK fdi AR L Bk BE1v)) W)ﬁﬁ STEE R — kg/md
B 7J< D X 57\ ﬁﬁﬁ*ﬁ#ﬂﬁv_paﬁ A NEOR: FF -
f%?@ ERM B OREE L OVME & MR R OV S ZMICEEik Kz A > MO BEED EIR 60 %
=2 B it W & F = —kg/m LR B KEOHEMBED LR — kg/m
TR UHREEZRIET DM — H Bt E0EEED TEXEEEN LR — kg/mi
7z = = — % mELBEOAS > THEKERE —cm
fi il # El
A NAEEES BSEEFEAS MR % g/cn | 3.02 NaOeq % —
RIMOD 4 = \ = e . | — [Na.Oeq —
——i}%fﬂ o) Bt — (| — HE g/ —— % —
= | ‘ . TR ER LA RID K E X ﬁ*ﬁix B g/cn ﬂ*ﬁa‘a@
g B W B X3 R A mRB bR of xR 6 E BREY%
QO wewy = RET (R AlbEETE 5 2. 80 2.58 2.61 3.0=x2.0
EQEFEATY RLUTHREN (EFEAZY) - - 5 2.55 12720276 3.0+2.0
14©) = - — = = = = — —
m O FA (20100 ZFEWAMAT (RFEME) 2010 AfLFE 20~ 10 7.00 | 2.612.63] 0.5+0.5
o OFF (1505) | ZEMAMET (PEPE) 1505 ALk 15~5 6.30 | 2.61 2.63] 0.5+0.5
AR ma1020 =B AMET (FEWE) 4020 Ak%& 40~20 7.95  2.61 263 0.5+0.5
@ — — — — — — =
EMAO 70— v 7 SVI0L AMM@H?@&IE Na,0e 0.6
(R A A H 4, 7D—IJ/ME 6 % AEA & s . 1.0
R U®) — ° -
MEMOEILHE - YKDK S5 HFAK - BBK BELYY BEDER — %
BIUNEMOFERAE M & M = HOF M = LA T OKOERHD B - @
BB & & kg/m
B X B M H X H =1 # il B # B Al #l
) @ ) @ ©) @ ® ® @ ) @) ©)
276 . — 157 469 = 313 - 392 | 261 436 = 2. 21 0.83 .
Kt A bk 57.0 % /&K % & M Lk - % M & M 41.4 %

o H
ﬁ%ﬁﬂ@giﬁﬂédé\ F*ﬂ%ﬂ@ﬁﬁﬁﬁg ZDOWTIE, MDZARLICERT 288055,
x

BIEREGE L TRIORTEASMOM, BHFAOBRMBEOARENLL
EH 6A1IE~9A20H) +0.2% &H (12A11H~3A10H) —0. 2%

SDSREBERATIVU-FITEMAHPRASAFLTIESI,




il & 3t B &
[ = ) B4 gt % #
a>7U—hkOD I N 27v7 X377 70- L E M OR KT E YA NDFEER
LNy BEICEDES = cm mm X 3R
EiE 24 8 40 BB
EZA + A > k O B & I ORI RE HE M OB K& I N5 MR ARk
o 1 1
%% B oM o @ ®m A EEMERCER fﬂ’]’%ﬁﬁ} o J@ﬁﬁ’if BB
BMONN RS E DX fdi AR L AR dk BREIV)-IOBMNEEER —kg/mi
o K O X 5 GEMNMIER > s U-—FORE —T
f%?@ F?ﬂﬁﬂ@ﬁﬁ&()ﬁima {E AR R OB S i s KA > O HEED LR 60 %
=E B it W & F = —kg/m LR B KEOHEMD LR — kg/md
- W?f“ﬁﬁ*é&&@“éﬁéﬁ — HIEMEDEEENTREXIIERED LR — kg/nd
% — % RELBOAS > THE AR —m
T%JF?#K WTHEOERIIED v =9 %
2) BB E ( m q
_ 0. 85 _ _ 1
al= T 30V = 1. 16 @) = - R = 1.22
100 100
m= a2 X SL = 1.22 X 24 = 29.3 N/uf
E-oT m=29.3 N
(3) kA REE(W/C) m = -24.5 + 30.8 X C/W
W/C = 30.8 = (29.3 + 24.5) X 100 = 57.0 % = [60% (EFEfE) ]
JW/C =570 %
(4) BAKkE (W) YTEOEREICED W = 157 kg/m
(53)ENEZA> RE(C) C =W = W/C) X 100 = 157 = 57.0 X 100 = 276 ke/m
Cv= C = BE = 276 = 3.02 = 91 2 /m
(6) =%z (A) A = 4.5 % X 1000 = 45 2 /m
(7)EM=E(s/a) YTHEOEHIZXD s/a = 41.4 %
() BEMHIBEME(S) Sv = (1000 — W+Cv+A)) X s/a = 707 X 41.4 % = 293 2 /m
S = Sv X EEEE = 293 X 2.67 = 182 kg/m
S =S X 60.0 % = 469 kg/m
S92 =S X 40.0 ¥ = 313 keg/m
9) BArHEME (G) Gv = 1000 — W+Cv+Sv+A) = 1000 — 586 = 414 2 /m
G = Gv X EEHHEE = 414 X 2.63 = 1089 kg/m
Gl =G X 36.0 % = 392 kg/m
G2 =G X 240 % = 261 ke/mi
G3 =G X 40.0 % = 436 kg/mi
(10) BEf7EAnAI & (Ad) Adl = C X FmZE = 276 X 0.8000 % = 2.21 ke/m
Ad?2 = C X Fm=E = 276 X 0.3000 % = 0.83 kg/m
e & =& kg/m
AR B M M K #H = # H =4 M B il #l
() @ ) @ ® ) @ ©) @ @ ® ©)
276 = — 157 469 @ 313 - 392 | 261 436 — 2. 21 0.83 =
K AR 57.0% M B M F 414




